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Figure S1 | Cu-ECSA Voltammograms of Pt/C, WO,/C, and GC electrodes showing the absence of
any interaction between copper ions and WO;/C or GC electrodes within the potential region used for
quantitative analysis (0.3 — 0.8 Vryg).
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Selected Candidate: Tungsten Oxide 00-043-1035 (Monoclinic)
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Figure S2 | XRD analysis of tungsten oxide.
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Figure S3 | Plot showing the hydrogen oxidation current produced by a Pt/C electrode in comparison
to current produced by a WO,/C electrode in the presence of hydrogen. Inset: CVs of a WO5/C
electrode in the presence (WOs/C H;) and absence (WO3/C Background) of hydrogen. CVs of

electrodes in the presence of hydrogen performed under rotation at 400 rpm, 10 mV/s.
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Figure S4 | Cyclic voltammetry of catalyst materials and GC electrode in supporting electrolyte. Note:
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current scale is not comsistent for plots c) and d). 0.1 M H,SO,, 10 mV/s.




